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Chemistry 11
Solution Worksheet

Directions: Answer in the space provided and be sure to show ALL your work. Have fun ©
1. Which of the following form ionic solutions?
a. NClCl b 503 C. K3PO4 d C4H1o e. (NH4)2504

(‘m m \ \onie \f'holeux\bii_ . _A] Lanic _!____

2. Which of the following is a conducting solution?

a. NaCl(aq) b. HC|(aq) ¢. CH3COOHqq) d. CG(OH)Z(OQ) e. SOy

3. Calculate the molar concentrations of ALL the ions in solutions.

a.0.750 M NasPOsey —2 3 N2§ \Jr ?O%L%B

ng} 3(0.350) = QDSW\\ L_og} 0.350m™M J\

b. 0.550 M NaCly ~——> \ MB’(’Q%B Y CL~ @7 )

ﬂm] I (L7l= 0.550™ \

c. 0.650 M Ca(OH)oegy —> | QalC%S T 20 H ()

.L[:Cbaq: 0.6S0OM \ \EO H *1 = 2(0. %SOB = LBO“’\]

d. Mix 250.0 ml of 0.350 M NaCl with 375.0 mL of 0.550 M CaClz‘)
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Titrations

4. A 112.5 ml sample of vinegar (containing acetic acid, CHsCOOH) was titrated using 0.504 M
NaOH. If the titration required 20.65 ml of the NaOH solution, what was the molar
concentration of acetic acid in the vinegar?

CH3COOH + NaOHc———= NaCH3C0O0 + H20
Mava = MgV e

N Coansy = (0.504m)(©0.02065 S

(.50 ™l (0.02065 D = 0,025 ™

0 O\ 25 \face*ic, ac\u};ki 0,028 ™M J

5. A 25.00 mL sample of an unknown H2S0O4 solution was reacted with 0.650 M NaOH. Using
the date below, calculate the concentration of H2504.

M= MeNg

Volume of NaOH used:
Run #1 = 36.50 mL's NGENUR (15_0%\_3 = (0.650 @ (5&5sz>
Run #2 = 36.54 mL’s € 0.650M) (36.52m 1)

Run #3>a<oo mL's QY Ly,50,) = 2§, 00m -

V.= 36.50 mLL 36 SHm\-
% -
= \)ZHZSOLA -0,450M

\/ g~ 3 6.S2m
6. A 10.00 ml sample of HCl was titrated with 0.750 M NaOH. Using the data below, calculate
the HCI concentration.
“\p‘\, Q = \0’\\3\J L~
Volume of NaOH used: ' : ~
= SO\ B Sbm L
Run #1546 50 L' ok THeD ) (io.ooml-x (0.7 B( m }
Run #2 = 8.54 mL's (0.3s0 ™) (R.S6 MLS
Run #3 = 8.60 mL's Y HCY 1 =
L Clo, 00~ l—‘\
V.o BS4alt80~
B : 0. 642
Vg =8.S6mb \V[HC“QA’ Q
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